
Visualizing BST Operation: Deletion
Case 1: Delete Entry with Key 31

Case 2: Delete Entry with Key 80

Case 3: Delete Entry with Key 32
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Visualizing BST Operation: Deletion

Case 4.2: Delete Entry with Key 88

Case 4.1: Delete Entry with Key 17
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Top-Down Heap Construction

Exercise: Build a heap out of the following 15 keys:
<16, 15, 4, 12, 6, 7, 23, 20, 25, 9, 11, 17, 5, 8, 14>

Assumption: Key values supplied one at a time.
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Bottom-Up Heap Construction

Exercise: Build a heap out of the following 15 keys:
<16, 15, 4, 12, 6, 7, 23, 20, 25, 9, 11, 17, 5, 8, 14>

Assumption: Key values supplied all at once.

5%% Step 1
8 heaps , Size Is height o

16 15412677 2320

15. ↓z Step 2
& G

&
25% 17

D / /
&

·4 r I 727232
D 11

Steps: &

- -

12.5 Step3 4
6

& tentries
: *

z
+ =
i 3 15 S

⑮ is 25a
I

osit
-

- - ↑

->
Step -

7:

obeigtthe
- ·

-



Array-Based Representation of a Complete BT
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